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Klappe zuerst die Lösungen nach hinten und löse dann alle Aufgaben.


  1)    58,21 g  	= ________________ kg       	0,05821 kg
  2)    12,88 mg 	= ________________ kg       	0,00001288 kg
  3)     5372 mg 	= ________________ kg       	0,005372 kg
  4)   0,7735 kg 	= ________________ t        		0,0007735 t 
  5)    27,18 kg 	= ________________ t        		0,02718 t 
  6)     65,4 mg 	= ________________ kg       	0,0000654 kg
  7)     2889 g  	= ________________ t        		0,002889 t 
  8)     56,3 g  	= ________________ t        		0,0000563 t 
  9)    939,6 t  	= ________________ g        	939600000 g 
 10)   0,6921 t  	= ________________ g        	692100 g 
 11)     793, kg 	= ________________ mg       	793000000 mg
 12)   0,9877 mg = ________________ kg       	0,0000009877 kg
 13)   0,2828 g  	= ________________ kg       	0,0002828 kg
 14)    808,7 t  	= ________________ g        	808700000 g 
 15)     2161 t  	= ________________ mg       	2161000000000 mg
 16)   0,9672 kg 	= ________________ mg       	967200 mg
 17)      213 kg 	= ________________ t        		2,13 t 
 18)    649,5 g  	= ________________ kg       	0,6495 kg
 19)   0,6583 g  	= ________________ mg       	658,3 mg
 20)   0,5517 g  	= ________________ kg       	0,0005517 kg
 21)    730,3 t  	= ________________ g        	730300000 g 
 22)     8732 mg 	= ________________ t        		0,000008732 t 
 23)   0,1609 g  	= ________________ t        		0,0000001609 t 
 24)    822,4 kg 	= ________________ mg       	822400000 mg
 25)    2,337 t  	= ________________ kg       	2337 kg

Von 25 Punkten hast du _____ Punkte erreicht.
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Klappe zuerst die Lösungen nach hinten und löse dann alle Aufgaben.

 26)    7,475 kg 	= ________________ t        		0,007475 t 
 27)   0,2592 t  	= ________________ mg       	259200000 mg
 28)    1,875 mg 	= ________________ kg       	0,000001875 kg
 29)   0,4686 kg 	= ________________ g        	890000 g 
 31)    0,127 kg 	= ________________ mg       	127000 mg
 32)    0,601 mg 	= ________________ g        	0,000601 g 
 33)     6732 kg 	= ________________ t        		6,732 t 
 34)    9,929 t  	= ________________ g        	9929000 g 
 35)    2,323 g  	= ________________ t        		0,000002323 t 
 36)    66,02 g  	= ________________ mg       	66020 mg
 37)    566,6 g  	= ________________ t        		0,0005666 t 
 38)    125,4 mg 	= ________________ t        		0,0000001254 t 
 39)     6593 mg 	= ________________ t        		0,000006593 t 
 40)   0,8833 g  	= ________________ t        		0,0000008833 t 
 41)   0,2245 g  	= ________________ t        		0,0000002245 t 
 42)    1,541 kg 	= ________________ mg       	1541000 mg
 43)      239 t  	= ________________ mg       	2390000000000 mg
 44)   0,8815 kg 	= ________________ g        	881,5 g 
 45)     9091 t  	= ________________ mg       	9091000000000 mg
 46)    32,38 g  	= ________________ t        		0,00003238 t 
 47)    3,159 g  	= ________________ mg       	3159 mg
 48)    73,89 mg 	= ________________ t        		0,00000007389 t 
 49)   0,6967 mg 	= ________________ g        	0,0006967 g 
 50)     1931 kg 	= ________________ t        		1,931 t 

Von 25 Punkten hast du _____ Punkte erreicht.
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